ar

numbers, like the ratio of the mass of an electron to the
mass of a proton, which is roughiy 1840 to one. Why? Did a
creator arbitrarily choose these numbers? (lan Roxburg)

LGS G L L st f e

AL ipp. ;ﬁ)};,/fé—'ﬂ/W“-/-dev{s-:ﬂwthuM/&g(j%

<) e S EW T P e ol ety
s e Y

SRAL Ko tfb’){;‘_-,lﬁf Vbl aemgh )J/‘HL P

L L Gl - <, ,J’/J’/‘f o Pl G

‘/ RS0 TN I o it ()6 a2s

W udlerup i diops

S s g o s
Jbényﬁ'é'}?,“wnz.ﬁi.f{;c]&—t _—

e NG
- ‘-.-’G.‘éLia:-;Kic_pU
-",L)LITO PN

W P Ll A

GOOQO0000000Co

‘}"’):"":‘.";"ftr‘—“/f‘:—’u}fl;{‘&,bfdi;
e i B S
i = _;L‘iﬂ-_‘»p‘y.._,__f_t_,_,;,J )
T B X P
l ot G e —

LGS I i)

B A R PP
1: AT BT Y PR ..fn*ﬂ(‘f"?~ :




ST LA

AR RS

VR

s

v od Ao
u«» / re 24 4 u
s (§FU— )
Tt ool s kg I P s e P A
G2 S PUS Gpusp 2 PP 2 et
c;bf‘(t,é‘nfwuzé;ﬂ - é&"uﬁfa‘wwf dor- Gophs
S S BRI WP S L
,QJ;J/}; :-—;_..a/b"f)g/: b}}ﬂyglg,uj;woﬂ@;_‘g/&u
It S Uu’?,ﬁf/ L psimisl Qe e Sy it
S b e A e e
.Lﬂb S Bk ({e‘/;’ ﬂ,t/)?g/(j I Mgf/_._,/u: 7%
pEZIA) V(ﬂ L:J/;(?/J & f/,'/k'f,'f o~ u‘/;"" 1) ;Aujﬂ/ ..:'a;t:FJ
SO L I e —n
b Sy o F L0 F T b,
b b S G LS =l
L lpidiy (ML 8
k) 6F o Seps JL PN
s Eiyple s Wl fid s oo LU
iz t Gld S S d P
LN iy Pl st &
s ’ff;fj’”ef?b’b;wab;fa}dwf{?gfgf




4

/ W-wo" ¢ A;Z—c'——/)” ;/Lo Gl b’u,:’f/l:é-
Z G NG L S NS s o
LS -G r Wb Lo p (18 For
SPLL G bt b N 5
Lard U5 I G0 G o
U S S GOL s it
e c@’//ﬂgy‘z’/ e, s Jur & &/JJ‘I/,/}/&P z
Sared L s oD i) & 5 g Pt
St o faprsde SV MG SF ok
b G SN S TGV s G5 G
-zl
CJEI e 2 e;/ AL o 5@/""'
CEHl G2Vl JEL NG iy Frpny
SYBEIFShonpies etr pf
YO L 1 o oL Tt 2
o g d Jffﬁ{ﬁm;ﬁéuﬁi. '
AWIL L e s is 2 S oo £
LU S SSL Sl gy P A
S Bty s Gl
SN Gl byt L D J e St
S e pdae i1 s
eI 1 P e P ol oz pol G J é"’i
SIS ooy o P Yz 25



/ (//}

Y

E ;/u;:"._,{[ be Ulf/..’.'.r/: oy qﬁt/l/ S
LA re iy (it i SEsS
Al Uiy U kg ol -4 2
lensp Ao Seslic S
Y W e L (a
Jed b PP st - LS
el L EEYIL Ao I S
LA—//’C/&'/U;W?,@,"J‘ s ;)’)"y;hérdﬂ',t
e s S sminsy vy -q"‘i-,;z—%f 4
e tfanred
L s Pl A 003 S NP T
Ll aini i L vl LS
e e o f At S o LSS
S i o fdos o farr G LS
N
i g B ol ST
2ot b denre- iz e
Kog o AL P s S S FnS
) %}Vf}’/‘f ‘,ﬁ/ ,f:;/ 6//327;' J;Lﬁ_y/&’ 4
-%bé)’ Vs I S5 Jo g L (W‘/’b:"
fe I II Ly
—q{‘é&‘/& e’
! f" Kl 1% (' 5’//)]2— by flf”ﬁd; - L':’/)/' L/F 5'254.’ ”



S L

- 34

df‘u%/)‘.:dg/&/(’/ﬂu/*/.’ﬁ-,a{q‘é.UJf b 4,1//; /
I WAL WA S e T s
S Gy GG ISP o
B IV o P e R
g QIO S Mie S
LJ""—I.&‘.— i #@)JL&;/L-JL%»%’G‘—/
& WS UM W3t L Soriol Yoy WA s Zig
Ty

iy el

.L;Q‘,z/’:—‘af’);féugﬂ;/‘gfdﬂ»’f ?e e Y
b Cr ey et SN I IIE P 2 S
P DA SN R I,
e Lyiea o Fo b S
VM AW 2l ST K
/;fuﬂi Wt )y LT{(UAMJL}? LUK, J%’f
Unfa Ly i L floy SiatiTL g
Gk et e P LI B2
UL ffhirsain ey s e
e Pra P gl
YLy

B T AN e 7
S E S L S i P o
AN IS AT Y
A D el Za



i T N

A S 5

L W KT =y e e e

L

)

AT T

N

‘L i3

S ORI SN L
LI b/-..«lw(ﬁ WAL PG F5 ot O
st PP e L U U//)‘d//,w'/w
A u)‘éu s Gl 03 J/ L /—470“ 0(
ﬂﬁ’;:f»‘o‘ fd—u/ Lo s 2 Fire L;w"jﬁ
l"/f’ U//@V/bfd/cf(f;wﬁd;‘f/@ﬂ“};lbw 4
df._/fr’/)f JJ’UL’(JU//JLJ&&’;‘:—U//J
JNE t"bf b it dyd a:é/m 2
/;Jb/,/' (/e ..J)“’¢ / /LM/A..UMV‘)I/A— FJ”J s /
,(,Uf,;..__x_,( P ¥ ENS T S A/—;:w’
AT 2
-.JJJ-"‘V/WUWVU/VG‘) U"’ﬁ"""ul—*b Y
R A Iy VAR
G N T 2 e b I L

//L/y))

LS o9t il e 51
S 0 LA oW g H o or i i,
. a;acf

.(u/fzz‘_,ww‘./‘,uwﬁfzdw .
LLESESpLis w‘fﬂz il d e
AF V) L—'}:.w L«lu*ﬂ/d/)fd-f/ﬁuftﬂ"f/f
T 4,/(' /u‘,/a' LIS S oz
wwuﬂu ~HEs7 [t u!fw:—_.ow;’z—l



59

/QJKVJVVJHW,J):&/J:V;U//u’/u?:
i i g g 2 Lo G béu//
S o ‘u‘d ch) 0 SapIh Y 8 e
LU L e pU 1 JE I S s S
/L»L;ﬂfu.—u/l/ /uo"u"‘;‘/b;,wrb-u‘/ﬂ o :/"/
Jo’"’d{/wd‘dk"‘idwzﬂ geg) A JJL
y*”GJ’c_.-JL /A—-(Lw ¥ //au‘a-a/ Grnt s,
ek b G52 5?.;,» b
] f/g_,/(wo;frau.‘cw,«,,;f 7
L L u/.w (s -:‘-—/M,w/ L LUPL
deﬂ"f/‘fv fdw-‘/é /dfwszi ol d&/é, ujb
B SR KPS B e perdiy)
LV LG i s fodtH ! 714
< wu—a, g_,fw,‘;’/,w b bl _.«//J 1Y
L"’/'-' 2ol VJ/ ‘-—é’dﬂ‘d" Lbf‘f—df d/// e s
HLMMI)MP/IE vy 1L ._azd-f (’d - d)c‘/’ // a_f’))d/
z,,,u/um b B I /wafgw/
«Lz Gl ‘;d /J/«/.WLJMJWL UL (M,;a G
Sy 0% WPertdsgi S WL d-—/b‘”({i""/)"
Lypray TANV 2 U‘/)‘://} <y I(‘f 4 f;’zd’ v
LAY T b BLL
éfv"v‘ 5//0(0‘"4—/“{/40’%/0&"‘&/’/;’
= u;:..!/u’f ) (f de.z.z.d‘ﬁg‘/u’é—(f
/6 o)) djt b;‘/w‘/) 1 S s 4.—// (/e u"’?



